
 

Exam 1 IN CLASS Wednesday Feb 2

If you feel sick DO NOTCOME
Email me instead at dave.h.jenser gmail.com

NII through Canvas
Final Project due April 18th

Population Models

EI You have a population of 100 stunts

The number of stunts doubles every year
Find Ng of skunks after t years
Not initial population 100
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This is a fairly good model but in the
long run it's unrealistic because
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Beverton Holton Recruitment Curve

It is a constant in the previous exmple

Instead assure Mf is a linearfunction
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Recursion for
Ntt
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Limiting Behavior of Nt
Find the fixed points Plug in NEM 9
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Two fixed points are go K



The fixed point a O is locally unstable
The fixed point ask is locally stable

If No O then finnaNt K
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Discrete Logistic Equation

Ntt Nt It R l E
Describe the limiting behavior

Find the fixed points Plug in a NENEH



a a It RCI ED Solve for a
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Either a o or 1 92 0
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Fixed points are a o K

azo is a locally unstable fixed point
ask is a locally stable fixed point

If No o then fin Nt K

Ricker's Curve
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Find the limiting behavior
Find the fixed points

a a expCra Mig
o a lexptra EFF 1

Either a O or
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both sides

RCI E InC1 O

1 E 0

1 I 15 9

Fixed points are azo K

Again a O is locally unstable and

a k is locally stable so if

No o then fin Ne K


